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Read the following passage and answer the questions given below:

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, “at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education.
As an opiate and a poison, the examination system respectively

paralyses or slows down natural activities and lulls the healthy mind

lulls the healthy mind and paralyses or slows down its physical activities

paralyses or slows down natural activities and lulls the mind

lulls the healthy mind and paralyses or slows down its natural activities

D
1
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Read the following passage and answer the questions given below:

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, “at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education.

Complete the following statement using a suitable option from among those provided below:

The overall passage implies that the public is impressed with the misconception
created by the list of scholarships

that the school is doing its job

that good education is being imparted

that something is happening

C
1
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Read the following passage and answer the questions given below:

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, “at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education.

The statement “The examination system lulls us into believing that all is well when most is ill” implies that it makes us falsely

confident and relaxed that

all is not well with it, some is ill.
nothing is ill in it, when most is.
most is well with it, when some is ill.

most is ill with it, some is well.
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Read the following passage and answer the questions given below:

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, “at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education.

The term ‘opiate’ is used in the passage to suggest its ----- effect.

narcotic

addictive

analgesic

social

A
1
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Read the following passage and answer the questions given below:

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, “at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education.
As per the passage, the sole objective of education is to help an individual

find himself in the unknown world and enjoy it well.

know the world, himself and live ideally well in the world.

know the world, his ideal potential and function in the world.

reveal his unknown capacities in an unknown world.

C
1



56 Question Description Pradhanmantri Suraksha Bima Yojana launch in which year?

A 2014
B 2015
c 2020
D 2019
Correct Answer B
Marks 1

57 Question Description The first multi-purpose river valley project in India has been built on which of the following rivers?
A Kaveri
B Godavari
c Damodar
D Koyna
Correct Answer Cc

Marks 1
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Which of the following is the largest railway junction in India?
Delhi

Bhatinda

Mathura

Allahabad

How many languages does the Indian Constitution recognise?
18
22
24

25



60 Question Description Where is Kanha National Park located in India?

A Assam
B Rajasthan
c Uttar Pradesh
D Madhya Pradesh
Correct Answer D
Marks 1
61 Question Description Which state is known as ‘Scotland of the East’ in India?
A Assam
B Tripura
(@ Manipur
D Meghalaya
Correct Answer D

Marks 1



62 Question Description National Library, the largest library in India is in which state?

A Rajasthan
B Bihar
c West Bengal
D Tamil Nadu
Correct Answer C
Marks 1

63 Question Description Fulhar lake is located in which state of India?
A Uttarakhand
B Bihar
c Madhya.Pradesh.
D Uttar Pradesh
Correct Answer D

Marks 1



64 Question Description Which of these organizations manages internet protocol numbers and Domain Name Systems roots?

A IUCN
B ICANN
c IUPAC
D IAEA
Correct Answer B
Marks 1

65 Question Description Which is the largest tiger reserve in India?
A Corbett
B Nagarjuna
c Manas
D screw
Correct Answer A

Marks 1



66 Question Description Find a pair that has similar relationship to frame: picture

A Binding: book
B Teacher: read
c Artist: drawing
D Mother: child
Correct Answer A
Marks 1
67 Question Description Ruby has 4 children. Two of the children have blue eyes and two of the children have brown eyes

Half of the children are girls
Which of the following statement is true

A Among any three children, at least one girl has brown eyes
B Among any three children, at least two girls has blue eyes
c At least on girl has blue eyes

D At least one boy has brown eyes

Correct Answer A

Marks 1



68 Question Description Four packets P, Q, R and S, three wallets A, B and C are kept on a table one after the other in a row from left to right. Wallet C has

as many items to its left as to its right. No packet is at any extreme end of the row. Packet P is kept to the immediate left of packet
R.

Packet P is to the immediate right of wallet A.
What is kept third from left end of the row on the table?

A C
B S
Cc R
D A
Correct Answer C

Marks 1



69 Question Description 125 small but identical cubes have been put together to form a large cube. How many such small cubes will be required to cover

this large cube completely?

A 208
B 212
c 254
D 218
Correct Answer D

Marks 1



70" Question Description Four friends, namely, Liyaqat, Lillian, Lima and Lalit are sitting on a horizontally placed wooden bench, all looking towards the
same direction.

If:

i. There is at least one person sitting between Lillian and Lima;

ii. Liyaqat is towards the right of Lima but not towards the right of Lalit;

ii. Lalit is seated immediately next to Lillian; &

iv. Lima is seated at one of the extreme corners of the bench.

Which of the following is definitely true?

A Lillian and Liyaqat are seated immediately next to one another.
B Liyaqat is seated at one of the extreme corners of the bench.

c There is at least one person seated between Lalit and Liyaqat.
D There is at least one person seated between Lalit and Lima.
Correct Answer D

Marks 1



71 Question Description Division A has 30% more students than division B
Division C has 30 % less students than division B
Division A has lesser students than division C
If the first two statements are true then the third statement is

A True
B False
c Uncertain
D
Correct Answer B
Marks 1
72 Question Description R1, R2, R3, R4, R5, R6, R7 are seven places on a map. The following places are connected by two-way roads: R1 and R2; R1 and

R6; R3 and R6; R3 and R4; R6 and R7; R4 and R5; R2 and R3; R5 and R7. No other road exists. The shortest route (the route with

the least number of intermediate places) from R1 to R7 is:-

A R1-R3-R7

B R1-R5-R7

C R1-R2—R3—-R6-R7
D R1-R6-R7

Correct Answer D

Marks 1



73 Question Description If a+b means a is sister of b,
a—b means a is brother of b,
axb means a is daughter of b,
a+b means a is mother of b,

Which of the following relationship shows that p and r are wife and husband?

A prqxr
B p—qxr
C prqxr
D p+q—i"
Correct Answer A

Marks 1
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A
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Here are some words translated from artificial language
Lapikaki means fruitcake
Kakibali means cakewalk

Malapalav means buttercup

Which word could mean “Fruitcup”

Palavkaki
Kakipalav
Lapibali

Lapipalav

D
1

60 men can dig 40 holes in 32 days. How long will 30 men take to dig 20 holes?
15 days
16 days
10 days

18 days



